
MAANSAROVAR LAW CENTRE CLASS ASSIGNMENT

UTTAR PRADESH – (J) EXAM- 2018 (G.S)
1. To encourage voter's participation the democratic process 'National Voter’s 
Day is celebrated in India on- 

(a) 1st November

(b) 5th June

(c) 8th March

(d) 25th January

2. Match List-I with List-Il and select the correct answer from the codes given 
below- 

List-I

(a) Fundamental Duties

(b) The concept of Basic Features of the Constitution

(c) Abolition of Untouchability

(d) Amendment of the Indian Constitution 

List-II

(1) Article 17

(2) Article 368 

(3) 42nd Amendment

(4) Kesavanand Bharati Case

Code:

A B C D

(a) 4 1 3 2

(b) 3 4 1 2

(c) 3 2 1 4

(d) 3 2 4 1

3. The maximum duration of 'Zero-Hour' in the Lok Sabha is-

(a) 30 minutes

(b) 60 minutes

(c) 2 Hours

(d) Indefinite period
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4. Who advises the state government on legal matters?

(a) Attorney General

(b) Advocate General

(c) Chief Justice of High Court.

(d) None of the above

5. The courts in India can interfere in electoral

(a) On the basis of Public interest petition.

(b) On the basis of Election petition

(c) On the basis of private interest petition

(d) On the basis of Group interest petition

6. given below are two statements; one labelled led as Assertion (a) and the 
other labelled as Reason- 

Assertion (A): The President is a part of Parliament 

Reason (R): A bill passed by the two Houses of Parliament cannot become law 
without the assent of the President. 

In the context of the above statements which one of the following is correct? 

(a) Both 'A' and 'R' are true and 'R' is the correct explanation of A

(b) Both 'A' and 'R' are true but 'R' is not a correct explanation of 'A'

(c) 'A' is true but 'R' is false

(d) 'A' is false but 'R' is true

7. Which writ is issued by the High Court to the lower courts to stop legal 
actions?

(a) Habeas Corpus

(b) Prohibition

(b) Quo Warranto

(d) Certiorari

8. Which one of the following tasks is not performed Commission? by the 
Election

(a) Preparing the electoral rolls

(b) Setting up polling-booths

(c) Implementing the model code of conduct
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(d) Supervising the Panchayat Elections

9.  Which  of  the  following  articles  was  judicially  reviewed  in  the  'S.R. 
Bommai's Case by the nine Judges Bench of the Supreme Court?

(a) Article 352

(b) Article 356

(c) Article 358

(d) Article 360

10. Who is the guardian of public Constitution is:

(a) President

(b) Prime Minister

(c) Finance Minister

(d) Comptroller and Auditor General

11. Article 370 of the Indian Constitution is:

(a) a permanent provision

(b) a regular provision

(c) a temporary transitional provision

(d) None of the above

12. Consider the following terms and arrange them in Chronological order-

(a) Law

(b) Bill

(c) Proposal

(d) Act 

Select the correct answer from the codes given below- 

(a) II, III, I, IV

(b) IV, II, III, I 

(c) III, II, IV, I

(d) II, III, I, IV

13.  Which  one  of  the  following  features  is  not  correct  about  the  writ-
committee of the Indian Parliament?

(a) It consists of 15 members

(b) All members are nominated by the speaker 
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(c) Minister of Law and Justice must be its member

(d) If Deputy-Speaker is its member, he heads the committe

(DELETED)

14. Choose your correct answer from the options given below regarding the 
number of States and Union Territories in India?

(a) 28 States and 6 Union Territories

(b) 29 States and 7 Union Territories

(c) 29 States and 6 Union Territories

(d) 28 States and 6 Union Territories

15. Which of the following is not included in list of Fundamental Duties in the 
Article 51(a) of the Indian Constitution?

(a) To caste Vote in general elections

(b) To value and preserve the rich heritage of our composite culture

(c) To develop the scientific temper

(d) To uphold and protect the sovereignty, unity and integrity of India.

16.  Consider  the  following  statements  regarding  National  Human  Rights 
Commission of India and give the correct answer-

(a) It was organised in 1993

(b) Its president and members are appointed by the President of India

(c) The President of 'NHRC' must be retired Chief Justice of India

(d) All of the above are correct

17.Which of the following is not found today a general characteristic of the 
party system in India? 

(a) Fragmentation and polarisation of parties

(b) Most of the parties are based on Ideology and concerned with national interest. 
(c) Personality-oriented political parties

(d) Mushroom growth of political parties

18.In which of the following years Swavalamban Scheme was launched as a 
function of the welfare state in India?

(a) October 2012 

(b) September 2014

(c) January 2011
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(d) September 2010

19.  Which  of  the  following  fundamental  rights  is  not  available  to  foreign 
citizens?

(a) Equality before law 

(b) Freedom of expression

(c) Right to Life and Personal Liberty

(d) Right against exploitation

20. With reference to the reservation of seats for women in Panchayat Raj 
Institutions, which of the following statements is/are correct?

(1) It is provided for in Article 243D (3) of the Indian Constitution

(2) The reservation shall cease to have effect on expiration of the period specified in 
Article 334

(a) 1 only

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2

21.  Which  sector  contributes  maximum  share  in  the  National  Income  of 
India?

(a) Agricultural Sector 

(b) Industrial Sector

(c) Service Sector

(d) None of the above

22. Taxes raised are credited into: 

(a) Consolidated fund

(b) Contingency Fund

(c) Public Accounts:

(d) Private Accounts

23.  Which  Five  Year  Plan  has  laid  emphasis  on  "Faster,  Sustainable  and 
Inclusive growth"?

(a) Eleventh Five Year Plan

(b) Twelfth Five Year Plan 
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(c) Tenth Five Year Plan

(d) Ninth Five Year Plan

24. The economic development process is concerned with-

(a) a rise in per capita income

(b) a rise in percentage of G.D.P

(c) Changes in the structure of economy

(d) all of the above

25. The Central Banking Functions in India are performed by:

(a) Central Bank

(b) SBI

(c) RBI

(d) Both (b) and (c)

26. The Income tax in India is:

(a) Direct and Proportional

(b) Indirect and Progressive

(c) Direct and Progressive

(d) Indirect and Proportional

27. Consider the following statements:

(1) India has attained self-sufficiency in almost all consumer goods

(2) For capital goods India still depends on imports

Select the correct answer using the code given below

(a) 1 is true but 2 is false

(d) 2 is true but 1 is false

(c) Both 1 and 2 are true

(d) Both 1 and 2 are false

28. If the Cash Reserve Ratio is lowered by the R.B.I., what will be its impact 
on credit-creation?

(a) Will get decreased

(b) Will get increased
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(c) Will have no impact

(d) None of the above impacts

29. Which Institute estimates National Income of India?

(a) I.S.I

(b) R.B.l

(c) C.S.O

(d) NABARD

30. Gilt-edged' market means:

(a) market of guns

(b) market of government securities 

(c) bullion market

(d) market of pure metals 

31. 'ECOMARC symbol is related to:

(a) Export goods

(b) Import goods 

(c) Best quality goods

(d) Goods safe for environment

32. Fill in the blank from the codes given below:

During the last decade, a perception is growing in the World that China and 
India are becoming two major in the world Codes:

(a) economic superpowers

(b) atomic superpowers

(c) political superpowers

(d) None of the above

33.  Which of  the following commodities  has  highest  export  from India  in 
2017?

(a) Agriculture and allied products

(b) Chemicals

(c) Engineering goods 
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(d) Textiles

34.TRAP is a regulatory body associated with which of the following sectors:

(a) Transport

(b) Tourism

(c) Telecom

(d) Technical Education

35. Consider the following statements: 

Assertion (A): Fiscal deficit of Indian Government as a percentage of GDP was 
higher in 2017-18 as compared to Budget estimates.

Reason (R): Growth in indirect tax collection was relatively lower during 2017-
18 on account of introduction of GST Choose the correct answer from the 
code given below:

Code:

(a) Both (a) and (R) are true and (R) is the correct explanation of (A)

(b) Both (a) and (R) are true but (R) is not the correct explanation of (A)

(c) (a) is true but (R) is false

(d) (a) is false but (R) is true

36. Special Drawing Rights' (SDRs) is available at: 

(a) IBRD/World Bank

(b) IMF

(c) International Development Association

(d) OECD

37. The main reason for the growth of money supply in India since 1990 is:

(a) Taxation

(b) Foreign borrowing

(c) RBI credit to the government

(d) Budgetary expenditure

38. Which of the apex institution in the shpere of agricultural financing in 
India?

(a) Corporation Bank

(b) Co-operative Bank

(c) Regional Rural Banks

8



MAANSAROVAR LAW CENTRE CLASS ASSIGNMENT

(d) NABARD

39. The author of 'Planned Economy for India' is: 

(a) Sir M. Visvesvaraya

(b) Dr K.PSector

(c) K.M.Munshi

(d) C.VRaman

40.  India  gets  the largest  share of  its  G.D.P.  from which of  the following 
sectors?

(a) Agriculture Sector

(b) Industry Sector

(c) Service Sector

(d) None of the above

41. Which of the following is not the function of Reserve Bank of India (RBI)?

(a) Issue of bank notes

(b) Banker to Government

(c) To open saving bank account for general public

(d) Custodian of cash reserves of Commercial Banks.

42.  The  Data  Security  Council  of  India  (DSCI  of  NASSCOM  signed  an 
agreement with which state-government to set up the 'Centre of Excellence of 
cyber security? 

(a) Andhra Pradesh

(b) Tamil Nadu

(c) Telangana

(d) Karnataka

43. The 14th Finance Commission recommended among other things, to raise 
the share of states in the net proceeds of divisible pool of cetral tax to:

(a) 32%

(b) 29.5%

(c) 45%

(d) 42%

44.The first 'Deendayal Handicraft Sankul' trade facilitation centre is located 
at:
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(a) Prayagraj

(b) Agra

(c) Kanpur

(d) Varansal

45. The Union Budget is presented under which Article of the Constitution of 
India?

(a) 110

(b) 111

(c) 112

(d) 122

46. Consider the following statements: 

Assertion  (A):  India's  position  is  second  in  the  world  in  fresh  water  fish 
production Reason (R): In India there are more than 18000 types of fishes 
found Choose the correct answer from the codes

Codes:

(a) (A) and (R) both are correct and (R) is the correct explanation of (A)

(b) (A) and (R) both are correct but (R) is not the correct explanation of (A)

(c) (A) is correct and (R) is false 

(d) (A) is false and (R) is correct

47.  With  reference  to  the  'Jal  Kranti  Abhiyan'  which  of  the  following 
statements is/are correct?

(1) To increase livehood security through water security in rural areas

(2) Adoption and utilization of traditional knowledge in water conservation 
and its management

Select the correct answer using the codes given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

48. Consider the following statements:

Assertion (A): Much labour is not required for cultivation of wheat 

Reason (R): In the cultivation of wheat, equipments are used more Given the 
correct answer with the help of codes given below:
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(a) (a) and (R) both are correct and (R) is the correct explanation of (A) 

(b) (a) and (R) both are correct and (R) is not the correct explanation of (A)

(c) (a) is correct and (R) is false

(d) (a) is false and (R) is correct

49.Match List-I  with List-II  and select  the correct  answer  from the codes 
given below: 

List-1 (State) List-II (Atomic Power station)

(a) Gujarat (1) Rawathhata

(b) Maharashtra (2) Kaiga

(c) Karnataka (3) Kakrapar

(d) Rajasthan (4) Tarapur

Code:

A B C D

(a) 1 2 4 3

(b) 3 4 2 1

(c) 2 1 3 4

(d) 4 3 1 2

50. Consider the following statements:

Assertion (A): Tank is one of the main source of irrgation in Peninsular India.

Reason (R):  In Peninsular  India most of  the rivers are seasonal  Given the 
correct answer using the codes below:

(a) (a) and (R) both are true and (R) is the correctly explanation of (A)

(b) (a) and (R) both are true and (R) is not the correct explanation of (A)

(c) (a) is true and (R) is false 

(d) (a) is false and (R) is true

41.Consider the following statements:

Assertion (A): The Southern branch of jet- steam influences the formation of 
winter season in India to a great extent.

Reason (R):  This jet-stream plays an important role in the cyclones which 
appear in North-Western parts of India during the winter season.

Given the correct answer using the code below: 

(a) (a) and (R) both are correct and (R) is the correct explanation of (A)
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(b) (a) and (R) both are correct and (R) is not the correct explanation of (A)

(c) (a) is correct and (R) is false

(d) (a) is false and (R) is correct

52. Consider the following statements related to ecological farming:

(1) The basic principle of ecological farming system is to take production from 
nature to its capacity

(2) Make minimum interference in the natural activity of nature

(3) Compensate the exhausted nutrients of land with the natural nutrients of 
nature Which of the above mentioned statements is/are correct?

(a) 1 and 2

(b) 2 and 3

(c) 1 and 3

(d) 1, 2 and 3

53.In which state of India the percentage of Schedule Castes is highest?

(a) Himachal Pradesh

(b) Uttar Pradesh

(c) West Bangal

(d) Punjab

54. From the economic point of view most important forests are

(a) Tidal

(b) Evergreen

(c) Tropical Deciduous

(d) Mountainous

55.In India the Golden Revolution is related with:

(a) Woolen Production

(b) Oil Seeds Production

(c) Tourism Development

(d) Horticulture

56. Where has the tallest rock-cut image of Narsimha been found?

(a) Chandpur

(b) Dudhai

(c) Deograh
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(d) Chanderi

57. Which of the following books is known as "Shatsahastri Samhita"

(a) Brihatsamhita

(b) Mahabharata

(c) Ramayana

(d) Manusmriti

58. Who has given as excellent description of  the surgical  instruments in 
ancient India?

(a) Charaka

(b) Aryabhatta

(c) Sushruta

(d) Vamanacharya

59.How many  images  of  Yoginis  are  preserved  in  the  "Chaunsatha  Yogini 
Temple" at Bheraghat?

(a) 64

(b) 54

(c) 81

(d) 74

60. Which of the following book/books are not written by Kalidas?

(a) Ritusamhara 

(b) Kiratarjuniya

(c) Mrichhkatikam 

(d) Malbikagnimitram

Select the correct answer using the code given below:

(a) 1 only

(b) 1 an 2 both 

(c) 2 and 3

(d) 1, 2, 3, 4

61. Which one of the following temples has been described as a landmark in 
the evolution of the building art' by Percy Brown?

(a) Brihadishvara temple at Tanjore

(b) Brihadishvara temple at Gangai-kondacholapuram
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(c) Shore temple at Mumallapuram

(d) Kailasa temp at Ellora 

62. Which of the following Greek historians has been called the 'Father of 
History'? 

(a) Nearchus

(b) Herodotus

(c) Aristotal

(d) Megasthenes

63. Which of  the following kings of  Rashtrakuta dynasty built  the famous 
Kaliash temple of Ellora?

(a) Dantiverman

(b) Krishna I

(c) Dhruva

(d) Govinda III

64.Who  amongst  the  following  was  also  a  poet  and  a  musician  and  took 
delight in his title of Kaviraja' or The king of Poets?

(a) Chandragupta

(b) Samudragupta

(c) Skandgupta

(d) None of the above

65.  Who  amongst  the  following  ruler  of  the  Chalukyas  of  Vatapi  also 
maintained diplomatic relations with Iran?

(a) Jayasimba

(b) Pulakesin II

(c) Vikramaditya I

(d) Vikramaditya II

66. From which city of Indus Valley Civilisation do we get the evidence of the 
conservation of potable water?

(a) MohanJodaro

(b) Lothal

(c) Kalibanga

(d) Dholavira

67. Which Indian ruler appointed Dharma-mabamatra' for the first time?
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(a) Chandragupta Maurya 

(b) Samudragupta

(c) Harshavardhan

(d) Ashoka

68. Match List-I List-II and select the correct answer using the code given 
below: 

List-I

(a) Vaishesik Philosophy

(b) Sankhya Philosophy

(c) Yoga Philosophy 

(d) Nyaya Philosophy

List-II

(1) Gautam 

(2) Patanjali

(3) Kanada

(4) Kapila

Codes:

A B C D

(a) 3 4 2 1

(b) 3 2 4 1

(c) 2 3 4 1

(d) 3 2 1 4

69.  Which  one  of  the  following  Jain  texts  described  the  rules  for  Jaina 
monks?

(a) Acharangasutra

(b) Bhagavati-sutra

(c) Kalika-Purana

(d) Bhadrabahucharita

70. Which inscription of king Harshvardhan has his own signature on it?

(a) Madhuban inscription

(b) Banskheda inscription
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(c) Nalanda inscription

(d) Sonipat inscription

71. Who of the following kings has been called 'Saptam Chakravarty'?

(a) Mihir Bhoja

(b) Bhoja Paramar

(c) Someshvara Ahavamalla Chalukya

(d) Kama Kalachuri

72. Consider the following events and arrange these in a chronological order:

(a) Battle of Ghaghar

(b) Birth of Akbar

(c) Battle of Chausa

(d) Hamayun's Kalinjar expedition

With the help of code given below choose the correct answer

Codes:

A B C D

(a) 1 3 2 4

(b) 2 1 3 4

(c) 1 4 3 2

(d) 1 2 3 4

73.Who was the Peshwa when the third Battle of Panipat was fought in 1761?

(a) Baji Raol

(b) Balaji Bajirao

(c) Madhava Rao

(d) Baji Rao II

74. The famous literary work 'Kitabul Hindi' was written by:

(a) Alberuni

(b) Badayuni

(c) Zia-ud-din Barni

(d) Kaphi-khan

75. Who built kabulibagh Mosque at Panipat

(a) Akbar
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(b) Aurangzeb

(c) Babar

(d) Ibrahim Lodi

76.What was the real name of Birbal?

(a) Ramdas

(b) Shyamdas

(c) Maheshdas

(d) Bhagwandas

77.who was the Sultan of Delhi at the time of Timur's invasion?

(a) Ghiyasuddin Tughlaq

(b)Feroz Tughlaq 

(c) Abubakr Shah

(d) Nasiruddin Mahmud Tuglaq

78. Match List-I with List-II and select the correct answer using the codes 
given below:

List-I

(a) Royal Title Act

(b) Indian Civil Services Act

(c) Sharda Act

(d) Indian Universities Act 

List-II

(1) 1860

(2) 1929

(3) 1904

(4) 1876

Codes:

A B C D

(a) 3 2 1 4

(b) 4 3 2 1

(c) 4 3 1 2
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(DELETED) 

79. Which of the following is not correctly matched?

(a) Pindart War-Lord Hastings 

(b) First Afghan War Lord Auckland 

(c)Annexation of Sindh-Lord Ellen-borough

(d) Second Sikh War Lord Hardinge

80. By which rule the Sati-Pratha was stopped?

(a) Rule XII

(b) Rule XIV

(c) Rule XV

(d) Rule XVII

81. Who amongst the following brought out "Voice of India"? ‘

(a) Surendra Nath Bannerjee

(b) Dada Bhat Naoroji Gangadhar Tilak

(c) Bal 

(d) Christopher Paul

82. When was the "Dak-Khana Act" passed?

(a) 1852

(b) 1853

(c) 1854

(d) 1855

83. Who amongst the following leaders published "New Lamps for Old"?

(a) Bipin Chandra Pal

(b) Surrendra Nath Bannerjee

(c) Gopal Krishna Gokhale

(d) Aurobindo Khosh

84. The working of LED system is based on which principle?

(a) Fluorescence 

(b) Phosphorescence

(c) Electroluminescence
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(d) None of the above

85. Which of the following is not true for nano materials?

(a) Nono-carbon is stronger than steel

(b) Nano-fiber cloths do not get dirty

(c) Nono-medicined will be more effective

(d) Homeopathy uses nano-materials

86. Which of the following has the highest ph?

(a) Gastric juice

(b) Bile in the gall baldder

(c) Pancreatic juice

(d) Saliva

87.Which gas plays main role in the Green House effect?

(a) H2 

(b) N2

(c) CO2 

(d)SO2

88.In Information technology HTML represents:

(a) Human Text Markup Language

(b) High Text Markup Language 

(c) Hybrid Text Markup Language

(d) Hyper Text Markup Language

89. Which of the following diseases are/is caused by bacteria?

(a) Leprosy

(b) Plague

(c) Mumps

(d) Polio

Select the correct answer using the code given below:

Codes:

(a) 1 and 3 are correct

(b) 1 and 2 are correct

(c) 1, 3 and 4 are correct
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(d) All are correct

90. The largest organ of human body is:

(a) Liver

(b) Intestine

(c) Urinary bladder

(d) Skin

91.Match List-I  with List-II  and select the correct answer using the codes 
given below:

List-I (Name of Text) List-II (name of disease)

(a) Montoux Text (1) AIDS

(b) Elisa Test (2) Dengue fever

(c) Widal Test (3) Tuberculosis

(d) Tourniquet Test (4) Typhoid

Code:

A B C D

(a) 3 1 2 4

(b) 4 1 2 3

(c) 2 3 1 4

(d) 3 1 4 2

92. Which of the following statements is not true about the optical fibres?

(a) They provide longer number of connectivity for telephones

(b) They are less noisy

(c) They are cheaper

(d) They have longer life-time

93. Jarvie 7 is:

(a) Pace maker 

(b) Artificial limb

(c) Artificial heart

(d) Artificial Cornea

94.Sun is getting energy from which of the following? Ans.c

(a) Nuclear Fission
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(b) Chemical Reaction 

(c) Nuclear Fusion

(d) Photoelectric Effect

95. The core of the transformer is laminated so as to: 

(a) reduce energy loss due to eddy current

(b) make it robust and strong 

(c) increase the secondary voltage

(d) make it light weight

96.Consider  the  following  statements  and  select  correct  answer  from the 
codes given below: 

(1) In solar cooker concave mirror is used

(2) In loud speaker electrical energy is convected into sound energy

(3) In motor electrical energy is converted into mechanical energy

Codes:

(a) only 1 and 2 

(b) only 2 and 3

(c) only 3 and 1

(d) all 1, 2 and 3

97. Which of the following is the strongest force in nature?

(a) Gravitational force

(b) Nuclear force

(c) Electrostatic force

(d) Magnetic force

98. Which of the following celestial bodies contains abundant quantities of 
Helium-3, a potential source of energy?

(a) Earth

(b) Saturn

(c) Venus

(d) Moon

99. Which of the following causes more severe burns?

(a) Boiling water

(b) Hot water
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(c) Steam

(d) Melting iceberg

100. About what percentage of the World's fresh water is in Antarctica?

(a) 50

(b) 40

(c) 70

(d) 100

101. What is true for RADAR?

(a) This is a technique to see hidden objects

(b) This is a method to detect fighter planes

(c) This is a method to send coded message

(d) This method is only for night vision

102. Match List-I with List-II and select the correct answer using the codes 
given below:

List-I List-II

(a) 98.4 F (1) Atmospheric pressure

(b) 76 cm of Hg (2) Human blood pressure

(c) 80/120 (3) Body Temperature

(d) 32 Ib (4) Tyre-pressure of Car

Code:

(a) 3 1 2 4

(b) 2 1 3 4

(c) 1 3 4 2

(d) 4 2 3 1

103.In which kind of pot food will be cooked faster?

(a) Steel

(b) Copper

(c) Silver

(d) Bronze

104.Which od the following statements is/are true?

(a) Agni-5 is contry's longest-range surface to air inter Continental Ballistic Missile 
(ICBM)
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(b) It full range is more than 5000 k.m.

(c) It was launched from Sriharikota (Andhra Pradesh)

(d) India joined the elite club of U.S.A., Russia, France and China by successfully 
test firing nuclear capable Agni 5 Select the correct answer from the code:

Codes:

(a) 1, 2, 3

(b) 1,2, 4

(c) 2, 3, 4

(d) 2, 4

105.  Name  the  missile  test-fired  successfully  on  May  21,  2018  from the 
Odisha coast, which was an Indo- Russian joint venture

(a) Agni-5

(b) Brahmos 

(c) Prithvi-Il

(d) Sarmat

106. Match List-I with List-II and choose the correct answer using the codes 
given below: 

List-I

(a) Internet speed

(b) Pen-drive memory

(c) Face-book

(d) Yahoo 

List-II

(1) 8 G.B

(2) Mbps

(3) E-mail

(4) Social media

Code:

A B C D

(a) 1 4 2 3
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(b) 2 1 4 3

(c) 3 2 4 1

(d) 1 2 3 4

107. Which of the following is not caused by bacteria?

(a) Malaria

(b) Typhoid

(c) Diptheria

(d) Tetanus

108.  Which reference  to  cancer,  which of  the  following  statements  is/are 
correct?

(1) Fine Needle Aspiration (FNA) biopsy is related to cancer

(2) Carbon-di-oxide laser is used for removing brain tumour

Select the correct answer using the cod given below:

Code:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

109. Consider the following statements and choose the correct answer using 
the code given below.

(1) In 1968 first case of AIDS control in India

(2) In 1992 India's first AIDS control programme (1992-1999) was launched 
and  also  National  AIDS  Control  Organization  (NACO)  was  constituted  to 
Implement the program

(3) The National Council on AIDS is chatred by the Prime Minister

Code:

(a) 1 and 3 

(b) 2 and 3

(c) 1 and 2

(d) All the above

110.Which kind of engine is likely to have minimum pollution?
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(a) Petrol engine

(b) Gas engine

(c) Diesel engine

(d) Kerosene engine

111. With reference to human blood which of the following statements is/are 
correct?

(1) In a healthy male the percentage of haemoglobin is more as compared to 
what it is in a normal healthy female

(2) The normal value of platelet counts in human blood ranges from 2.00.000 
to 4,50,000 c.m.

Select the correct answer using the code given below:

Code:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

112. Which of the following statements is not correct?

(a) Passive euthanasia was made legal in India by Supreme Court of India in 2018.

(b) For passive euthanasia, patients must consent through a living will

(c)  The  judgement  was passed by  a  5-member  Constitution Bench of  Supreme 
Court in case of Pinki Virani

(d) For passive euthanasis patients must be either terminally ill or in a vegetative 
state

113.  Which  one  of  the  following  makes  India's  maritime  boundary  with 
Maldives?

(a) Great Channel

(b) Coco Channel

(c) Eight degree Channel

(d) None of the above

114. Diamond is hard because-

(a) It cannot be burnt

(b) It is made up of carbon atoms

(c) It is a giant molecule
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(d) All the four valence electrons are be either to each carbon atom by covalent 
bonds

115. Athelete foot' is a disease caused by

(a) Bacteria

(b) Fungi

(c) Protozoa

(d) Nematode

116.Which of the following is correct pledge set for the countries to limit 
their temperature by 2050 by a UN, body?

(a) to reduce temperature by 1.5C

(b) to reduce temperature by 2 C

(c) to reduce temperature by I C

(d) None of the above

117.Consider the following statements and give the correct answer using the 
codes given below.

(1) The United National Secretary-General declared 2019-2028 as the Nelson 
Mandela Decade of Peace on Sept. 25. 2018

(2) He also unveiled statue of Nelson Mandela at the U.N. on Mandela's 100 
birth anniversary

Code:

(a) Both 1 and 2 are correct

(b) 2 only

(c) 1 only

(d) None of the above

118. The World Cup Hockey Tournament which was organized in Nov. 2018 in 
which of the following cities of India?

(a) New Delhi

(b) Bhubaneshwar

(c) Puri

(d) Kolkata

119.Two  Indians.  Dr.  Bharat  Vatwani  and  Sonam  Wangchuk,  recived  a 
prestigious award on 31st August, 2018. Name the award?

(a) World Excellence Award, 2018
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(b) Nikkei Asia Prize, 2018

(c) KISS Humanitarian Award, 2018

(d) Ramon Magsaysay Award, 2018

120. Who won the Women Single's title in the U.S. Opens Tennis Tournament, 
2018?

(a) Serena Williams

(b) Anastastja Sevastova

(c) Naomi Osaka 

(d) Elena Vesnina

121.  The  "Me  Toon  campaign  has  been  initiated  to  help  which  of  the 
following?

(a) Below Poverty Line Women

(b) SC/ST Category

(c) Sexually harassed women

(d) SC/ST Women

122. Which country levied a tax on Whatts App and Facebook in June 2018?

(a) Uganda

(b) Zambia

(c) Zimbabwe

(d) Ranzania

123. The book entitled "Twilights Children" is based on the lives of people 
suffering from?

(a) AIDS

(b) Down syndrome

(c) Cancer

(d) Blindness

124. Which of the following will be the host country for the official World 
Tourism Day Celebrations in 2019?

(a) Spain
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(b) Thailand

(c) India

(d) Romania

125. Which country has become a popular hub of medical tourism?

(a) Maxico

(b) India

(c) Malaysia

(d) Brazil

126. The International Women-Entrepreneurs Summit was held from Sept.3, 
2018 to Sept. 5, 2018 in which country?

(a) India

(b) U.K

(c) U.S.A

(d) Nepal

127.Who has been awarded the United Nations UNEP Champions of the Earth 
award, 2018?

(a) Kailash

(b) Narendra Modi

(c) Sudha Vergese 

(d) Donald Trump

128.In which of the following countries referendum was held in May 2018 to 
make abortion law flexible?

(a) Netherlands

(b) Sweden 

(c) Ireland

(d) None of these

129.While Validating "Aadhar" the Supreme Court of India makes it essential 
for which of the following?

(a) Bank-account

(b) Credit card

(c) Passport

(d) Filing Income-tax-Return
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130.Prof. G.D. Agrawal, who expired on Oct 10, 2018. was on a fast unto death 
for which cause?

(a) Deforestation

(b) Plastic-free India

(c) Cleaning Ganga

(d) Swachchta Abhiyan

131.Paryatan  Parva  was  organized  nation  wide  in  India  from  16  to  27, 
September,  2018.  Which  of  the  following  was  not  among  the  three  main 
components of the 'Parva'?

(a) Dekho Apna Desh

(b) Tourism for All

(c) Tourism and Governance

(d) Tourism and Digital Technology

(DELETED)

132. Name the woman who created history of Feb. 22, 2018 by becoming the 
1st Indian Woman Fighter pilot to fly solo- 

(a) Taniya Sanyal

(b) Avani Chaturvedi

(c) Anchal Thakur

(d) Manika Batra

133."Hamara  Swasthya,  Hamari  Awaaz"  campaign  has  been  initiated  by 
whom?

(a) Ministry of Health and Family Welfare

(b) Ministry Planning Association of India

(c) White Ribbon Alliance for safe motherhood, India

(d) World Health Organisation

134. Food Safety and Standards has allowed use of which gas for ripening of 
fruits in Regulation, 2015?

(a) Methane

(b) Ethylene 

(c) Propane
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(d) Ethyne

135. An appeal to "Gift a Skill" was made by Minister for Sill Development and 
Entrepreneurship on the occasion of:

(a) Reksha Bandhan

(b) Vishwakarma Pooja

(c) Diwali

(d) International Labour Day

136. What has the Kailash Sodhani Committee recommended in its report in 
Oct 2018?

(a) More democracy on Campuses

(b) Sports Philosophy to be taugh as a subject

(c) Yoga as a subject

(d) Compulsory revival of student's Unions

137. The Union Ministry of Social Justice released its data about beggars in 
the country on March 23. 2018. Which Indian State has the highest number 
of beggars according to it?

(a) Bihar

(b) West Bangal 

(c) Uttar Pradesh

(d) Tamil Nadu

138.  Name  the  dissenting  judge  of  the  Supreme  Court  verdict  in  the 
Sabarinala Devasthanam Case.

(a) Justice Chandrachud

(b) Justice Leela Seth

(c) Justice Indu Malhotra

(d) Justice Deepak Mishra

139. Consider the following statements and select the correct answer using 
the codes given below.

(1) "Title" is the name given to the sovere cyclonic storm rising from the Bay 
of Bangal on 11.10.18

(2) The two Indian states worst hit by it are Odisha and Andhra Pradesh
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Code:

(a) 2 only

(b) 1 only

(c) Both 1 and 2

(d) Neither 1 nor 2 

140.Union Vabinet has approved establishment of National Institute of Mental 
Health and Rehabilitaion in:

(a) Schore District (Madhya Pradesh)

(b) Deoria District (Uttar Pradesh) 

(c) Ballia District (Uttar Pradesh)

(d) Katni District (Madhya Pradesh)

141. Which of the following is not correctly matched?

National Parks States 

(a) Intauki Nagaland

(b) Singlila Maharashtra

(c) Betla West Bengal

(d) Tadoba Meghalaya

142. Match List-I with List-II and select the correct answer using the codes 
given below:

List-I(Dam Project) List-II(State)

(a) Ghat Prabha (1) Odisha

(b) Ukai (2) Maharashtra

(c) Hirakund (3) Karnataka

(d) Koyana (4) Gujarat

Code:

A B C D

(a) 4 2 1 3

(b) 1 3 2 4

(c) 3 4 1 2

(d) 2 1 3 4

143. How many islands are there in Lakshadweep?

(a) 17
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(b) 27

(c) 36

(d) 41

144.Gas Authority of India Limited has built a network of natural gas trunk 
pipeline covering a length of:

(a) 6.400 km

(b) 15.600 km

(c) 8.700 km

(d) 40.000 km

145. According to India State of  Forest  Report  (ISFR) 2017 percentage of 
forest cover in India has increased by:

(a) 0.49%

(b) 1.20%

(c) 0.94%

(d) 0.54%

146.which of the following states has largest production of rice?

(a) Uttar Pradesh

(b) West Bengal

(c) Punjab

(d) Andhra Pradesh

147. World's highest road is in India where is it?

(a) Leh and Srinager

(b) Leh and Manali

(c) Srinagar and Jammu

(d) Jammu and Shimla

(Deleted)

148.On what percentage of the total agricultural land food crops are grown in 
India?

(a) 60%

(b) 70%
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(c) 80%

(d) 85%

149.Match List-I with List-II and select correct answer using the codes given 
be-low:

List-I (Sea Port)

(a) Alleppy

(b) Ennore

(c) Paradip

(d) Kakinada 

List-II (State)

(1) Andhra Pradesh

(2) Odisha

(3) Kerala

(4) Tamil Nadu

Codes:

A B C D

(a) 4 3 1 2

(b) 1 2 4 3

(c) 2 1 3 4

(d) 3 4 2 1

150. Match List-I with List-II and select correct answer using the codes given 
be-low: List-1

(a) Tropical Forest

(b) Coniferous Forest

(c) Mangroves Forest

(d) Deciduous Forest 

List-II

(1) Sunderbans

(2) Rajasthan

(3) Himachal Pradesh

(4) Silent Valley

A B C D
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(a) 1 2 4 3

(b) 4 3 1 2

(c) 2 1 3 4

(d) 3 4 2 1
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